Filomat 30:14 (2016), 3885–3895 DOI 10.2298/FIL1614885L



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On Some Characterizations of Sub-b-s-Convex Functions

Jiagen Liao^a, Tingsong Du^{a,b,*}

^aDepartment of Mathematics, College of Science, China Three Gorges University, Yichang 443002 China ^bHubei Province Key Laboratory of Systems Science in Metallurgical Process(Wuhan University of Science and Technology), Wuhan 430081 China

Abstract. A new class of generalized convex functions called sub-*b*-*s*-convex functions is defined by modulating the definitions of *s*-convex functions and sub-*b*-convex functions. Similarly, a new class sub-*b*-*s*-convex sets, which are generalizations of *s*-convex sets and sub-*b*-convex sets, is introduced. Furthermore, some basic properties of sub-*b*-*s*-convex functions in both general case and differentiable case are presented. In addition the sufficient conditions of optimality for both unconstrained and inequality constrained programming are established and proved under the sub-*b*-*s*-convexity.

1. Introduction

Owing to the importance of the convexity and generalized convexity in the study of optimality to solve mathematical programming, researchers worked a lot on the generalized convex functions. For example, in earlier papers, C.R. Bector and R. Singh(1991)[4] introduced a class of *b*-vex functions. H. Hudzik and L. Maligranda(1994)[10] discussed two kinds of s-convexity (0 < s < 1) and proved that s-convexity in the second sense is essentially stronger than the s-convexity in the first sense whenever (0 < s < 1). E.A. Youness(1999) [20] introduced a class of sets and a class of functions called E-convex sets and E-convex functions by relaxing the definitions of convex sets and convex functions. X.M. Yang(2001)[19] gave some examples for E.A. Youness's paper[20] and perfected it. For more results on generalized *E*-convex functions, place refer to [1, 8, 9] and closely related references therein.

Recently, these classes of generalized convex functions caused a lot of research interests. Especially for the research of *b*-invex function. Such as, X.J. Long and J.W. Peng(2006)[13] discussed a class of functions called semi-*b*-preinvex functions, which is a generalization of the semi preinvex functions and the *b*-vex functions. Yu-Ru Syau *et al.*(2009)[17] introduced a class of functions, called *E-b*-vex functions, which is defined as a generalization of *b*-vex functions and *E*-vex functions. T. Emam(2011)[18] researched a new class of functions called roughly *b*-invex functions, discussed some their properties, and obtained sufficient optimality criteria for nonlinear programming involving these functions. M.T. Chao *et al.*(2012)[6] studied a new generalized sub-*b*-convex functions and a class of sub-*b*-convex sets, and presented the sufficient

Received: 05 November 2014; Accepted: 25 April 2015

²⁰¹⁰ Mathematics Subject Classification. 26B25; 90C26

Keywords. generalized convex functions; sub-b-s-convex set; sub-b-s-convex function;

Communicated by Predrag Stanimirović

Research supported by Hubei Province Key Laboratory of Systems Science in Metallurgical Process of China under Grant Z201402, the Natural Science Foundation of Hubei Province, China under Grants 2013CFA131, and the National Natural Science foundation of China under Grant 61374028.

Corresponding author: Tingsong Du

Email addresses: JiagenLiao@163.com (Jiagen Liao), tingsongdu@ctgu.edu.cn (Tingsong Du)

conditions of optimality for both unconstrained and inequality constrained sub-*b*-convex programming. For more information on generalized convex functions, see [5, 7, 15]. These scholars's researches promoted the development of the generalized convex functions like *b*-invex function. Meanwhile, we now find a class of generalized convex function, which are not sub-*b*-convex functions, also has some similar properties of sub-*b*-convex function and even *s*-convex function, and more generalized than these two types of generalized convex functions. Therefore, these extensions of convexity such as sub-*b*-convexity and *s*-convexity sparking our research interest, so we turn our attention to this new research.

Inspired by the research works[2, 6, 10–12, 14, 16], the purpose of this paper is to present a new class of generalized convex functions which is called sub-*b*-*s*-convex functions and discuss some properties of the class of functions satisfying the sub-*b*-convexity. We also give the sufficient conditions of optimality for both unconstrained and inequality constrained programming, which are obtained under the sub-*b*-*s*-convexity. Therefore, under the sub-*b*-*s*-convexity, we can solve the sub-*b*-convex and *s*-convex optimization programs which were solved separately in different frames.

The remainder of this paper is organized as follows. In Sect. 2, a new class of functions, called sub-*b*-*s*-convex function, which further extends to the concept of sub-*b*-convexity is introduced. Correspondingly, a new class of sets called sub-*b*-*s*-convex sets is introduced, and some properties of sub-*b*-*s*-convex function and sub-*b*-*s*-convex sets are developed. In Sect. 3, we introduce a new sub-*b*-*s*-convex programming and establish the sufficient conditions of optimality under the sub-*b*-*s*-convexity. Sect. 4 is devoted of drawing the conclusions.

2. Basic Results

In this section, we first recalled the definitions of sub-*b*-convexity and *s*-convexity of function. The class of sub-*b*-convex functions is defined by M.T. Chao *et al.*[6] as follows. Through out the paper, let *S* be a nonempty convex set in \mathbb{R}^n .

Definition 2.1. The function $f: S \to \mathbb{R}$ is said to be a sub-b-convex function on S with respect to map b: $S \times S \times [0,1] \to \mathbb{R}$, if

$$f(\lambda x + (1 - \lambda)y) \le \lambda f(x) + (1 - \lambda)f(y) + b(x, y, \lambda)$$

holds for all $x, y \in S$ *and* $\lambda \in [0, 1]$ *.*

Among others, H. Hudzik *et al.*[10] considered the class of functions which is *s*-convex in the second sense defined in the following way:

Definition 2.2. The function $f: S \to \mathbb{R}$ is said to be s-convex in the second sense(i.s.s. in short of in the second sense) if

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda)^s f(y)$$

holds for all $x, y \in S$, $\lambda \in [0, 1]$ and for some fixed $s \in (0, 1]$. The class of s-convex in the second sense is usually denoted by K_s^2 .

In the following, by combining Definition 2.1 and Definition 2.2, we introduce the concepts of sub-*b*-*s*-convex function and sub-*b*-*s*-convex set *i*.*s*.*s*.. Then we study some of their basic properties.

Definition 2.3. The function $f: S \to \mathbb{R}$ is said to be sub-b-s-convex function i.s.s. on S with respect to map b: $S \times S \times [0,1] \to \mathbb{R}$, if

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda)^s f(y) + b(x, y, \lambda)$$
(2.1)

holds for all $x, y \in S$, $\lambda \in [0, 1]$ and for some fixed $s \in (0, 1]$. On the other hand, If

$$f(\lambda x + (1 - \lambda)y) \ge \lambda^s f(x) + (1 - \lambda)^s f(y) + b(x, y, \lambda)$$
(2.2)

holds for all $x, y \in S$, $\lambda \in [0, 1]$ and for some fixed $s \in (0, 1]$, then the function f is said to be sub-b-s-concave function *i.s.s.*. If the inequality signs in the previous two inequalities are strict, then f is called strictly sub-b-s-convex and sub-b-s-concave function *i.s.s.*, respectively.

Remark 2.4. When s = 1, the sub-b-s-convex function i.s.s. is reduced to be the sub-b-convex function. Moreover, when s = 1 and $b(x, y, \lambda) \le 0$, the sub-b-s-convex function is reduced to be the convex function.

Remark 2.5. Sub-b-s-convex function can be concave. It is easy to see that when $b(x, y, \lambda) = f(\lambda x + (1 - \lambda)y)$, if $f(x) \ge 0$, then f is a sub-b-s-convex function i.s.s.. In this case, if f is a concave function, then f is both sub-b-s-convex and concave function.

Example 2.6. Let $f : \mathbb{R} \to \mathbb{R}$ be defined as

$$f(x) = -(x-2)^2 + 4, x \in [0,4],$$

and let $b(x, y, \lambda) \equiv 4$, then f is both sub-b-s-convex and concave function.

In what following, we are going to find out, whether or not, the sub-*b*-*s*-convex function *i.s.s.* shares some similar properties with the sub-*b*-convex function. The first observation is given as follows.

Theorem 2.7. *If* $f, g : S \to \mathbb{R}$ *are sub-b-s-convex functions i.s.s. with respect to the same map b, then* f + g *and* αf , $(\alpha \ge 0)$ *are sub-b-s-convex with respect to the same map b.*

Corollary 2.8. If $f_i: S \to \mathbb{R}, (i = 1, 2, \dots, m)$ are sub-b-s-convex functions i.s.s. with respect to maps $b_i: S \times S \times [0, 1] \to \mathbb{R}, (i = 1, 2, \dots, m)$, respectively, then the function

$$f = \sum_{i=1}^{m} a_i f_i, a_i \ge 0, (i = 1, 2, \cdots, m)$$
(2.3)

is sub-b-s-convex with respect to $b = \sum_{i=1}^{m} a_i b_i$.

Proposition 2.9. If $f_i: S \to \mathbb{R}$, $(i = 1, 2, \dots, m)$ are sub-b-s-convex functions i.s.s. with respect to maps $b_i: S \times S \times [0, 1] \to \mathbb{R}$, $(i = 1, 2, \dots, m)$, respectively, then the function $f = \max\{f_i, i = 1, 2, \dots, m\}$ is a sub-b-s-convex function i.s.s. with respect to $b = \max\{b_i, i = 1, 2, \dots, m\}$.

Theorem 2.10. Assume $f: S \to \mathbb{R}$ is a sub-b-s-convex functions i.s.s. with respect to $b: S \times S \times [0,1] \to \mathbb{R}$ and $g: \mathbb{R} \to \mathbb{R}$ is an increasing function. If g satisfies the following conditions

(i)
$$g(\alpha x) = \alpha g(x), \forall x \in \mathbb{R}, \alpha \ge 0,$$
 (2.4)

$$(ii) \ g(x+y) = g(x) + g(y), \forall x, y \in \mathbb{R},$$
(2.5)

then $f' = g \circ f$ is a sub-b-s-convex function i.s.s. with respect to $b' = g \circ b$.

Proof Since f is a sub-*b*-*s*-convex functions *i.s.s.* with respect to b and g is an increasing function, it follows that

$$\begin{split} (g \circ f) \Big(\lambda x + (1 - \lambda) y \Big) &= g \Big(f \Big(\lambda x + (1 - \lambda) y \Big) \Big) \\ &\leq g \Big(\lambda^s f(x) + (1 - \lambda)^s f(y) + b(x, y, \lambda) \Big). \end{split}$$

Since $\lambda \in [0, 1]$, by combining the two conditions of (2.4) and (2.5), it yields that

$$(g \circ f) \Big(\lambda x + (1 - \lambda)y \Big) \le \lambda^s g \Big(f(x) \Big) + (1 - \lambda)^s g \Big(f(y) \Big) + g \Big(b(x, y, \lambda) \Big)$$

= $\lambda^s (g \circ f)(x) + (1 - \lambda)^s (g \circ f)(y) + (g \circ b)(x, y, \lambda).$

That is, $f' = q \circ f$ is a sub-*b*-*s*-convex function *i.s.s.* with respect to $b' = q \circ b$ and the proof is completed.

Remark 2.11. In Theorem 2.7, Corollary 2.8, Proposition 2.9 and Theorem 2.10, if the sub-b-s-convex function f and g are replaced with the strict sub-b-s-convex function i.s.s., then we can obtain the similar conclusions. Obviously, Theorem 2.7, Corollary 2.8 and Proposition 2.9 satisfy the conditions of Theorem 2.10, so Theorem 2.7, Corollary 2.8 and Proposition 2.9 can be regarded as the special cases of Theorem 2.10.

In what following, we introduce a new concept of sub-*b*-*s*-convex set *i*.*s*.*s*.

Definition 2.12. Let $X \subseteq \mathbb{R}^{n+1}$ be a nonempty set. X is said to be a sub-b-s-convex set i.s.s. with respect to b: $\mathbb{R}^n \times \mathbb{R}^n \times [0,1] \to \mathbb{R}$, if

$$\left(\lambda x + (1-\lambda)y, \lambda^{s}\alpha + (1-\lambda)^{s}\beta + b(x, y, \lambda)\right) \in X$$
(2.6)

holds for all $(x, \alpha), (y, \beta) \in X, x, y \in \mathbb{R}^n, \lambda \in [0, 1]$, and some fixed $s \in (0, 1]$.

Here, we give a characterization of sub-*b*-*s*-convex function $f: S \to \mathbb{R}$ *i.s.s.* in terms of their epigraph E(f), which is given by

$$E(f) = \{(x,\alpha) | x \in S, \alpha \in \mathbb{R}, f(x) \le \alpha\}.$$
(2.7)

Theorem 2.13. A function $f: S \to \mathbb{R}$ is a sub-b-s-convex function i.s.s. with respect to $b: S \times S \times [0,1] \to \mathbb{R}$, if and only if E(f) is a sub-b-s-convex set i.s.s. with respect to b.

Proof Suppose that *f* is a sub-*b*-*s*-convex function *i.s.s.* with respect to *b*. Let $(x_1, \alpha_1), (x_2, \alpha_2) \in E(f)$. Then, $f(x_1) \leq \alpha_1, f(x_2) \leq \alpha_2$. So we have

$$f(\lambda x_1 + (1 - \lambda)x_2) \le \lambda^s f(x_1) + (1 - \lambda)^s f(x_2) + b(x_1, x_2, \lambda)$$
$$\le \lambda^s \alpha_1 + (1 - \lambda)^s \alpha_2 + b(x_1, x_2, \lambda)$$

holds for all $x_1, x_2 \in S$, $\lambda \in [0, 1]$ and some fixed $s \in (0, 1]$. Hence, it is easy to see that

$$\left(\lambda x_1 + (1-\lambda)x_2, \lambda^s \alpha + (1-\lambda)^s \beta + b(x_1, x_2, \lambda)\right) \in E(f).$$

Thus, by Definition 2.12, E(f) is a sub-*b*-*s*-convex set *i*.*s*.*s*. with respect to *b*.

Conversely, let's assume that E(f) is a sub-*b*-*s*-convex set *i.s.s*. with respect to *b*. Let $x_1, x_2 \in S$, then $(x_1, f(x_1)), (x_2, f(x_2)) \in E(f)$. Thus, for $\lambda \in [0, 1]$ and some fixed $s \in (0, 1]$, we have that

 $\left(\lambda x_1 + (1-\lambda)x_2, \lambda^s f(x_1) + (1-\lambda)^s f(x_2) + b(x_1, x_2, \lambda)\right) \in E(f).$

This implies that

,

$$f(\lambda x_1 + (1 - \lambda)x_2) \le \lambda^s f(x_1) + (1 - \lambda)^s f(x_2) + b(x_1, x_2, \lambda).$$

That is, *f* is a sub-*b*-*s*-convex function *i.s.s.* with respect to *b* and the proof of Theorem 2.13 is completed.

3888

Proposition 2.14. If X_i is a family of sub-b-s-convex sets i.s.s. with respect to the same map $b(x, y, \lambda)$, then $\bigcap_{i \in I} X_i$ is a sub-b-s-convex set i.s.s. with respect to $b(x, y, \lambda)$.

Proof Let $(x, \alpha), (y, \beta) \in \bigcap_{i \in I} X_i$, then, for each $i \in I$, $(x, \alpha), (y, \beta) \in X_i$. Since X_i is a sub-*b*-*s*-convex set *i*.*s*.*s*. with respect to *b*, for all $\lambda \in [0, 1]$ and some fixed $s \in (0, 1]$, it follows that

$$(\lambda x + (1 - \lambda)y, \lambda^s \alpha + (1 - \lambda)^s \beta + b(x, y, \lambda)) \in X_i, \forall i \in I.$$

Thus,

$$\left(\lambda x + (1-\lambda)y, \lambda^{s}\alpha + (1-\lambda)^{s}\beta + b(x, y, \lambda)\right) \in \bigcap_{i \in I} X_{i}.$$

Hence, $\bigcap_{i \in I} X_i$ is a sub-*b*-*s*-convex set *i.s.s.* with respect to *b* and the conclusion obtains.

Proposition 2.15. If $\{f_i | i \in I\}$ is a family of numerical functions i.s.s., and each f_i is a sub-b-s-convex function with respect to the same map $b(x, y, \lambda)$, then the numerical function $f = \sup_{i \in I} f_i(x)$ is a sub-b-s-convex function i.s.s. with respect to $b(x, y, \lambda)$.

Proof Since f_i is a sub-*b*-*s*-convex function *i.s.s.* on *S* with respect to $b(x, y, \lambda)$, its epigraph $E(f_i) = \{(x, \alpha) | x \in S, f_i(x) \le \alpha\}$ is a sub-*b*-*s*-convex set *i.s.s.* with respect to *b*. Therefore, their intersection

$$\bigcap_{i \in I} E(f_i) = \left\{ (x, \alpha) | x \in S, f_i(x) \le \alpha, i \in I \right\}$$
$$= \left\{ (x, \alpha) | x \in S, f(x) \le \alpha \right\}$$
$$= E(f),$$

where $f(x)=\sup_{i\in I} f_i(x)$. By Theorem 2.13 and Proposition 2.14, we know that $f = \sup_{i\in I} f_i(x)$ is a sub-*b*-s-convex function *i.s.s.* with respect to $b(x, y, \lambda)$ and the conclusion follows.

3. Main Results

We consider continuously differentiable functions which are sub-*b*-*s*-convex functions with respect to a map $b(x, y, \lambda)$. For fixed $x, y \in S$, $b(x, y, \lambda)$ is a continuously decreasing function about λ . So, $\frac{b(x, y, \lambda)}{\lambda}$ is a continuously decreasing function about λ .

Furthermore, we assume that the limit $\lim_{\lambda\to 0_+} \frac{b(x,y,\lambda)}{\lambda}$ exists and the limit is the maximum of $\frac{b(x,y,\lambda)-o(\lambda)}{\lambda}$ for all $\lambda \in (0, 1]$ and fixed $x, y \in S$.

Theorem 3.1. Suppose that $f: S \to \mathbb{R}$ is a non-negative differentiable sub-b-s-convex function i.s.s. with respect to map $b(x, y, \lambda)$. Then

$$(i) \nabla f(y)^{T}(x-y) \le \lambda^{s-1} \left(f(x) + f(y) \right) + \lim_{\lambda \to 0_{+}} \frac{b(x, y, \lambda)}{\lambda},$$

$$(3.1)$$

$$(ii) \nabla f(y)^{T}(x-y) \le \lambda^{s-1} \left(f(x) - f(y) \right) + \frac{f(y)}{\lambda} + \lim_{\lambda \to 0_{+}} \frac{b(x, y, \lambda)}{\lambda}.$$

$$(3.2)$$

Proof (i) By the Taylor expansion and the sub-*b*-*s*-convexity of *f*, we have taht

$$f(\lambda x + (1 - \lambda)y) = f(y + \lambda(x - y))$$

= $f(y) + \lambda \nabla f(y)^T (x - y) + o(\lambda).$ (3.3)

J.G. Liao, T.S. Du / Filomat 30:14 (2016), 3885–3895 3890

$$\begin{aligned} f\Big(\lambda x + (1-\lambda)y\Big) &\leq \lambda^s f(x) + (1-\lambda)^s f(y) + b(x, y, \lambda) \\ &\leq \lambda^s f(x) + (1+\lambda^s) f(y) + b(x, y, \lambda). \end{aligned} \tag{3.4}$$

Combining the equality (3.3) and inequality (3.4) yields that

$$\lambda \nabla f(y)^{T}(x-y) + o(\lambda) \le \lambda^{s} (f(x) + f(y)) + b(x, y, \lambda).$$
(3.5)

Dividing the inequality (3.5) above by λ and using the fact that $\lim_{\lambda \to 0_+} \frac{b(x,y,\lambda)}{\lambda}$ is the maximum of $\frac{b(x,y,\lambda)}{\lambda} - \frac{o(\lambda)}{\lambda}$, it yields that

$$\nabla f(y)^{T}(x-y) \leq \lambda^{s-1} \Big(f(x) + f(y) \Big) + \lim_{\lambda \to 0_{+}} \frac{b(x, y, \lambda)}{\lambda},$$

which proves the first part of Theorem 3.1.

(ii) Combining the above equality (3.3) and inequality (3.4), it yields that

$$f(y) + \lambda \nabla f(y)^{T}(x - y) + o(\lambda) \leq \lambda^{s} f(x) + (1 - \lambda)^{s} f(y) + b(x, y, \lambda)$$

$$= \lambda^{s} f(x) + (1 - \lambda)^{s} f(y) - \lambda^{s} f(y)$$

$$+ \lambda^{s} f(y) + b(x, y, \lambda)$$

$$= \lambda^{s} (f(x) - f(y)) + b(x, y, \lambda)$$

$$+ ((1 - \lambda)^{s} + \lambda^{s}) f(y).$$
(3.6)

Obviously, $(\lambda^s + (1 - \lambda)^s) \le 2$ for $\lambda \in [0, 1]$ and some fixed $s \in (0, 1]$. By invoking the fact that f is a non-negative function, inequality (3.6) can be simplified to

$$f(y) + \lambda \nabla f(y)^{T}(x - y) + o(\lambda) \le \lambda^{s} (f(x) - f(y)) + 2f(y) + b(x, y, \lambda).$$

Thus,

$$\lambda \nabla f(y)^{T}(x-y) + o(\lambda) \le \lambda^{s} (f(x) - f(y)) + f(y) + b(x, y, \lambda).$$
(3.7)

In the same way, dividing the inequality (3.7) above by λ and using the fact that $\lim_{\lambda\to 0_+} \frac{b(x,y,\lambda)}{\lambda}$ is the maximum of $\frac{b(x,y,\lambda)}{\lambda} - \frac{o(\lambda)}{\lambda}$, we have

$$\nabla f(y)^T(x-y) \leq \lambda^{s-1} \Big(f(x) - f(y) \Big) + \frac{f(y)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda},$$

which proves the second part of Theorem 3.1.

Theorem 3.2. Suppose that $f: S \to \mathbb{R}$ is a negative differentiable sub-b-s-convex function i.s.s. with respect to map $b(x, y, \lambda)$. Then

$$\nabla f(y)^{T}(x-y) \leq \lambda^{s-1} \Big(f(x) - f(y) \Big) + \lim_{\lambda \to 0_{+}} \frac{b(x, y, \lambda)}{\lambda}.$$
(3.8)

Proof By the Taylor expansion and the sub-*b*-*s*-convexity of *f*, we have that

$$f(\lambda x + (1 - \lambda)y) = f(y + \lambda(x - y))$$

= $f(y) + \lambda \nabla f(y)^T (x - y) + o(\lambda).$ (3.9)

J.G. Liao, T.S. Du / Filomat 30:14 (2016), 3885–3895 3891

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda)^s f(y) + b(x, y, \lambda).$$
(3.10)

Since $\lambda \in [0,1]$ and some fixed $s \in (0,1]$, then we have $(\lambda^s + (1 - \lambda)^s) \ge 1$. Furthermore, because f is a negative function, the inequality (3.10) can be simplified to

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda^s)f(y) + b(x, y, \lambda).$$
(3.11)

Meanwhile, combining the above equality (3.9) and inequality (3.11) yields that

$$\lambda \nabla f(y)^T (x - y) + o(\lambda) \le \lambda^s (f(x) - f(y)) + b(x, y, \lambda).$$
(3.12)

Dividing the inequality (3.12) above by λ and using the fact that $\lim_{\lambda \to 0_+} \frac{b(x,y,\lambda)}{\lambda}$ is the maximum of $\frac{b(x,y,\lambda)}{\lambda} - \frac{o(\lambda)}{\lambda}$, we have

$$\nabla f(y)^T(x-y) \le \lambda^{s-1}(f(x)-f(y)) + \lim_{\lambda \to 0_+} \frac{b(x,y,\lambda)}{\lambda}.$$

The proof of Theorem 3.2 is completed.

Corollary 3.3. Let $f: S \to \mathbb{R}$ be a differentiable sub-b-s-convex function i.s.s. with respect to map b. For $\lambda \in (0, 1]$, *if f is a non-negative function, then*

$$\nabla \left(f(y) - f(x) \right)^T (x - y) \le \frac{f(y)}{\lambda} + \frac{f(x)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(y, x, \lambda)}{\lambda}.$$
(3.13)

If f is a negative function, then

$$\nabla \left(f(y) - f(x) \right)^T (x - y) \le \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(y, x, \lambda)}{\lambda}.$$
(3.14)

Proof If f is a non-negative function, by Theorem 3.1, we have that

$$\nabla f(y)^{T}(x-y) \leq \lambda^{s-1} \Big(f(x) - f(y) \Big) + \frac{f(y)}{\lambda} + \lim_{\lambda \to 0_{+}} \frac{b(x, y, \lambda)}{\lambda} \Big)$$
$$\nabla f(x)^{T}(y-x) \leq \lambda^{s-1} \Big(f(y) - f(x) \Big) + \frac{f(x)}{\lambda} + \lim_{\lambda \to 0_{+}} \frac{b(y, x, \lambda)}{\lambda} \Big)$$

Adding the two inequalities above, it is easy to show that

$$\nabla \left(f(y) - f(x) \right)^T (x - y) \le \frac{f(y)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda} + \frac{f(x)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(y, x, \lambda)}{\lambda}.$$

In a similar way, if f is a negative function, by Theorem 3.2, we can also get

$$\nabla (f(y) - f(x))^T (x - y) \le \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(y, x, \lambda)}{\lambda}.$$

The proof is completed.

Now, we apply the associated results above to the nonlinear programming. First, we consider the unconstraint problem (*P*).

$$(P): \min\{f(x), x \in S\}$$
(3.15)

Theorem 3.4. Let $f: S \to \mathbb{R}$ be a non-negative differentiable and sub-b-s-convex function i.s.s. with respect to b. If $\bar{x} \in S$ and the inequality

$$\nabla f(\bar{x})^T (x - \bar{x}) \ge \frac{f(\bar{x})}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, \bar{x}, \lambda)}{\lambda}$$
(3.16)

holds for each $x \in S$, $\lambda \in (0, 1]$ and some fixed $s \in (0, 1]$, then \bar{x} is the optimal solution to the optimal problem (P) with respect to f on S.

Proof For any $x \in S$, since f is a non-negative differentiable sub-*b*-*s*-convex function *i.s.s.*, by (3.2) of Theorem 3.1, we have that

$$\nabla f(\bar{x})^T (x - \bar{x}) - \frac{f(\bar{x})}{\lambda} - \lim_{\lambda \to 0_+} \frac{b(x, \bar{x}, \lambda)}{\lambda} \le \lambda^{s-1} (f(x) - f(\bar{x}))$$

holds for $\lambda \in (0, 1]$ and some fixed $s \in (0, 1]$, on the other hand, since

$$\nabla f(\bar{x})^T(x-\bar{x}) \geq \frac{f(\bar{x})}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x,\bar{x},\lambda)}{\lambda},$$

we have $f(x) - f(\bar{x}) \ge 0$. Therefore, \bar{x} is the optimal solution of f on S. This completes the proof.

Example 3.5. Let $f : [0, +\infty) \to \mathbb{R}$ be defined as

$$f(x) = (x^2 + 4x)^s,$$

and let $b(x, y, \lambda) = \lambda x^2 + 4\lambda y^2$, here *s* is a fixed constant on (0, 1). Then *f* is sub-b-s-convex function.

In fact, $g(x) = x^2 + 4x$ is a non-negative convex function on $[0, +\infty)$, combining Corollary 7 in [3](M. Alomari, M. Darus and S.S. Dragomir 2009), then f(x) is an *s*-convex function on $[0, +\infty)$, 0 < s < 1. So we have that

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda)^s f(y).$$

Since $b(x, y, \lambda) = \lambda x^2 + 4\lambda y^2 \ge 0$ for $x, y \in [0, 2]$ and $\lambda \in (0, 1]$, it is easy to show that

$$f(\lambda x + (1 - \lambda)y) \le \lambda^s f(x) + (1 - \lambda)^s f(y) + b(x, y, \lambda)$$

Hence, *f* is sub-*b*-*s*-convex function.

Now we consider the following unconstraint sub-b-s-convex programming

$$P: \min \{f(x), x \in [0, +\infty)\},\$$

where $f(x) = (x^2 + 4x)^s$, $b(x, y, \lambda) = \lambda x^2 + 4\lambda y^2$ and some fixed $s \in (0, 1)$. Since f(x) is a non-negative differentiable and sub-*b*-*s*-convex function *i.s.s.* with respect to *b* and the limit $\lim_{\lambda\to 0_+} \frac{b(x,y,\lambda)}{\lambda}$ exists for fixed $x, y \in [0, +\infty)$ and $\lambda \in (0, 1]$. Followed by calculating, we have that

$$\nabla f(\bar{x})^T (x - \bar{x}) = s(\bar{x}^2 + 4\bar{x})^{s-1} (2\bar{x} + 4)(x - \bar{x})$$
$$\frac{f(\bar{x})}{\lambda} = \frac{(\bar{x}^2 + 4\bar{x})^s}{\lambda}$$
$$\lim_{\lambda \to 0_+} \frac{b(x, \bar{x}, \lambda)}{\lambda} = x^2 + 4\bar{x}^2.$$

It can easily see that $\bar{x} = 0$, the inequality $\nabla f(\bar{x})^T (x - \bar{x}) \ge \frac{f(\bar{x})}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x,\bar{x},\lambda)}{\lambda}$ holds for all $x \in [0, +\infty)$, $\lambda \in (0, 1]$ and some fixed $s \in (0, 1)$. According to the theorem 3.4, the minimum value of f(x) at zero. As shown in Figure 1, let $x \in [0, 2]$ and s take 0.5, 0.6 and 0.7, respectively. We can obtain the same optimal value at (0,0).



Figure 1: The optimal value of f(x) with different *s*

Corollary 3.6. Let $f: S \to \mathbb{R}$ be a strictly non-negative sub-b-s-convex function i.s.s. with respect to b. If $\bar{x} \in S$ and satisfies the condition (3.16), then \bar{x} is the unique optimal solution of f on S.

Proof From Theorem 3.1, if *f* is a strictly non-negative sub-*b*-*s*-convex function *i.s.s.* with respect to *b*, then we have

$$\nabla f(y)^T(x-y) < \lambda^{s-1} \Big(f(x) - f(y) \Big) + \frac{f(y)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, y, \lambda)}{\lambda} \Big)$$

Suppose $x_1, x_2 \in S$ are two different optimal solutions of problem (*P*). Then $f(x_1) = f(x_2)$. Combining the above inequalities, we have

$$\nabla f(x_2)^T(x_1-x_2) - \frac{f(x_2)}{\lambda} - \lim_{\lambda \to 0_+} \frac{b(x_1, x_2, \lambda)}{\lambda} < \lambda^{s-1} \Big(f(x_1) - f(x_2) \Big).$$

Hence, from (3.16), we can see

$$\lambda^{s-1}(f(x_1) - f(x_2)) > 0.$$

Since $f(x_1) = f(x_2)$, so $x_1 = x_2 = \bar{x}$. Therefore, \bar{x} is the unique optimal solution of f on S and the proof of Corollary 3.6 is completed.

Next, we apply the associated results to the nonlinear programming with inequality constraints as follows:

$$(P_s): \min\{f(x)|x \in \mathbb{R}^n, g_i(x) \le 0, i \in I\}, I = \{1, 2, \cdots, m\}.$$
(3.17)

Denote the feasible set of (P_s) by $F = \{x \in \mathbb{R}^n | g_i(x) \le 0, i \in I\}$. For the convenience of discussion, we assume that f and g_i are all differentiable and F is a nonempty set in \mathbb{R}^n .

Theorem 3.7. (*Karush-Kuhn-Tucker Sufficient Conditions*) Suppose that the function $f: \mathbb{R}^n \to \mathbb{R}$ is nonnegative differentiable sub-b-s-convex function i.s.s. with respect to $b: \mathbb{R}^n \times \mathbb{R}^n \times (0,1] \to \mathbb{R}$, $g_i: \mathbb{R}^n \to \mathbb{R}$ $(i \in I)$ are differentiable sub-b-s-convex functions i.s.s. with respect to $b_i: \mathbb{R}^n \times \mathbb{R}^n \times (0,1] \to \mathbb{R}$, $(i \in I)$. Assume that $x^* \in F$ is a KKT point of (P_s) , i.e., there exist multipliers $u_i \ge 0$ $(i \in I)$ such that

$$\nabla f(x^*) + \sum_{i \in I} u_i \nabla g_i(x^*) = 0, u_i g_i(x^*) = 0.$$
(3.18)

If

$$\frac{f(x^*)}{\lambda} + \lim_{\lambda \to 0_+} \frac{b(x, x^*, \lambda)}{\lambda} \le -\sum_{i \in I} u_i \lim_{\lambda \to 0_+} \frac{b_i(x, x^*, \lambda)}{\lambda},$$
(3.19)

then x^* is an optimal solution of the problem (P_s) .

Proof For any $x \in F$, we have

 $g_i(x) \le 0 = g_i(x^*), i \in I(x^*) = \{i \in I | g_i(x^*) = 0\}.$

Therefore, by the sub-*b*-*s*-convexity of g_i and the Theorem 3.2, for $i \in I(x^*)$, we obtain

$$\nabla g_i(x^*)^T(x-x^*) - \lim_{\lambda \to 0_+} \frac{b(x, x^*, \lambda)}{\lambda} \le \lambda^{s-1} \left(g_i(x) - g_i(x^*) \right) \le 0.$$
(3.20)

From (3.18), we have

$$\nabla f(x^*)^T(x-x^*) = -\sum_{i \in I} u_i \nabla g_i(x^*)^T(x-x^*) = -\sum_{i \in I(x^*)} u_i \nabla g_i(x^*)^T(x-x^*).$$

Using the condition (3.19), we have that

$$\nabla f(x^*)^T (x - x^*) - \frac{f(x^*)}{\lambda} - \lim_{\lambda \to 0_+} \frac{b(x, x^*, \lambda)}{\lambda} \ge -\sum_{i \in I} u_i \nabla g_i (x^*)^T (x - x^*) + \sum_{i \in I} u_i \lim_{\lambda \to 0_+} \frac{b_i (x, x^*, \lambda)}{\lambda} = -\sum_{i \in I(x^*)} u_i \Big(\nabla g_i (x^*)^T (x - x^*) - \lim_{\lambda \to 0_+} \frac{b_i (x, x^*, \lambda)}{\lambda} \Big).$$

Combining the inequality (3.20) with the above inequality, we have

$$\nabla f(x^*)^T(x-x^*) - \frac{f(x^*)}{\lambda} - \lim_{\lambda \to 0_+} \frac{b(x,x^*,\lambda)}{\lambda} \ge 0.$$

From Theorem 3.4, we can get $f(x) - f(x^*) \ge 0$ for each $x \in F$. Therefore x^* is an optimal solution of the problem (P_s). This ends the proof.

4. Conclusion

In this paper, we have introduced sub-*b*-*s*-convex functions and sub-*b*-*s*-convex sets *i.s.s.*. According to the definition, it is observed that sub-*b*-*s*-convex function can be reduced into sub-*b*-convex function on the condition that s = 1. Furthermore, it can be simplified into convex function on the conditions that s = 1 and $b(x, y, \lambda) \le 0$. Therefore, the sub-*b*-*s*-convex function *i.s.s.* is a generalization of sub-*b*-convex and *s*-convex function. In the end, we have studied Karush-Kuhn-Tucker sufficient conditions for obtaining an optimal solution of sub-*b*-*s*-convex programming with unconstrained or inequality constrained conditions.

Acknowledgement

The authors would like to thank Professor Predrag Stanimirovic and Doctor Tarek Emam for their very detailed comments and constructive suggestions, which greatly improved the presentation of this paper.

3894

References

- Akhlad Iqbal, Shahid Ali, I. Ahmad, On geodesic E-convex sets, geodesic E-convex functions and E-epigraphs, Journal of Optimization Theory Applications, 155 (2012) 239–251.
- [2] Akhlad Iqbal, I. Ahmad, Shahid Ali, On properties of geodesic η-preinvex functions, Nonlinear Analysis: Theory, Methods & Applications 74 (2011) 6805–6813.
- [3] M. Alomari, M. Darus, S.S. Dragomir, New inequalities of simpson's type for s-convex functions with applications, RGMIA Research report collection 12 (2009) Article 9, Pages 18. Online http://ajmaa.org/RGMIA/v12n4.php
- [4] C.R. Bector, C. Singh, B-vex functions, Journal of Optimization Theory and Applications 71 (1991) 439-453.
- [5] J. Brinkhuis, Convex duality and calculus: reduction to cones, Journal of Optimization Theory and Applications 143 (2009) 439–453.
- [6] M.T. Chao, J.B. Jian, D.Y. Liang, Sub-b-convex functions and sub-b-convex programming, Operations Research Transactions(China) 16 (2012) 1–8.
- [7] Constantin Zălinescu, A critical view on invexity, Journal of Optimization Theory Applications, 162 (2014) 695–704.
- [8] D.I. Ducai, L. Lupsa, On the E-epigraph of an E-convex function, Journal of Optimization Theory and Applications 129 (2006) 341–348.
- [9] C. Fulga, V. Preda, Nonlinear programming with E-preinvex and local E-preinvex functions, European Journal of Operational Research, 192 (2009) 737–743.
- [10] H. Hudzik, L. Maligranda, Some remarks on s-convex functions, Aequationes Mathematicae 48 (1994) 100–111.
- [11] J. Haberl, Maximization of generalized convex functionals in locally convex spaces, Journal of Optimization Theory and Applications 121 (2004) 327–359.
- [12] X.F. Li, J.Z. Zang, Necessary optimality conditions in terms of convexificators in lipschitz optimization, Journal of Optimization Theory and Applications 131. (2006) 429–452
- [13] X.J. Long, J.W. Peng, Semi-B-preinvex functions, Journals of Optimization Theory and Applications 131 (2006) 301–305.
- [14] S.K. Mishra, R.N. Mohapatra, E.A. Youness, Some properties of semi *E-b*-vex functions, Applied Mathematics and Computation 217 (2011) 5525–5530.
- [15] S.K. Mishra, S.Y. Wang and K.K. Lai, Explicitly B-preinvex fuzzy mappings, International Journal of Computer Mathematics 83 (2006) 39–47.
- [16] I.M. Stancu-Minasian, Optimality and duality in nonlinear programming involving semilocally *B*-preinvex and related functions, European Journal of Operational Research 137 (2006) 47–58.
- [17] Yu-Ru Syau, Lixing Jia, E.Stanley Lee, Generalizations of E-convex and B-vex functions, Computers and Mathematics with Applications 58 (2009) 711–716.
- [18] T. Emam, Roughly B-invex programming problems, Calcolo 48 (2011) 173–188.
- [19] X.M. Yang, On *E*-convex sets, *E*-convex functions and *E*-convex programming, Journal of Optimization Theory and Applications 109 (2001) 699–704.
- [20] E.A. Youness, E-convex sets, E-convex functions, and E-convex programming, Journal of Optimization Theory and Applications 102 (1999) 439–450.